


















































































































































Appendix I

Calculation of the number of potential collisions and of the relative risk

There is a lot of confusion about the question of how the degrees of safety of pedestrian
crossings must, or can, be expressed in relation to one another or as a function of time.
The following can be stated on this subject.

If pedestrians were to cross the road as if there were no vehicular traffic, and if vehicles
were to drive as if there were no pedestrians crossing, a certain number of collisions
could be expected on a certain road within a certain period of time.

The number of actual collisions between both categories of road-users will be a fraction
of that number, because both drivers and pedestrians, under normal circumstances,
avoid collisions by correcting their respective speeds or, to a lesser extent, their course.
In other words: by allowing their actual behaviour to be partly influenced by the
presence of the other category of road-user, their speed and course are modified in such
a way that conflicts are avoided as much as possible.

On a road without special facilities for crossing pedestrians, the biggest contribution
in this respect will have to come from the pedestrian. He waits on the kerb until he
thinks he can cross safely (correction of speed), or he walks further along the pavement
until no more vehicles are approaching and then crosses (changing course). In these
cases the vehicles are hardly affected. On the contrary, at a busy zebra crossing pro-
tected by regulations, it may happen that pedestrians continue walking (especially
those who arrive at a moment when other pedestrians are already on the crossing),
whilst the vehicles stand still in front of the zebra crossing.

In a great many situations, however, a certain adaptation of behaviour is expected
from both categories of road-users. The more successful this mutual consideration the
smaller becomes the fraction of actual collisions compared with the number that would
have been likely without this adaptation. This last number (or at least the average
chance of a collision occurring) can be determined with the aid of the calculation of
probabilities, provided several simplified assumptions are used as a basis.

Consider an imaginary crossing with the width 1 of an average pedestrian, on a road
with the width D of an average vehicle (see Figure I.1).

On this crossing there will be a certain collision when either pedestrian or vehicle enters
the (hatched) crossing area when the other is already wholly or partially on it (N.B.:
Normal pedestrian crossings are wider and longer than assumed here; that is why the
above statement does not apply to them; see below, however).

It is assumed that both vehicle and pedestrian whilst passing over the pedestrian crossing
are moving at the constant speeds of V and v respectively. The time during which the
vehicle will be wholly or partial ly on the crossing is:

L+1

T=T
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